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1.Zudwphtwpupuluh wownwhphbp
Pwliniwl wluwwnwbpllip
1 |Qnjnipinil nibkignn thwjuint nrGGnph pwnnid 100 ? 0.067
2 |Qnnipjnil nibbgnn thwyint wwwnnthwGobph pwbnnid 100 ? 0.028
3 |MwuwnwnGtph wnynid wwinkiphg 100 0.28
Pwgywéplbp
1 [Ubtnwnwuyjwuwnt AeGbph ibnwnpnid , 6008 /pwgynn/ (uwhuniwl) ownwnbpynjw wpun. i 6.70
2 Ubnnwnwwjjwuwnt wwinnthwbtph nnwnpned, 4+400 wwwytithwetpny 6000 /spwgynn/ 2 280
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3 [Mwudwub ywwnnthwlwgngh nbknwnpnud /40 ud (wlntp./ qd 1.70
4 |Mwuwnnithwbwgngh fugwl qnuyg 2.00
5 |Qwjnk nnukph Ukd tnpngnid hwwn 1.00
6  [n0bPh (hwywaosph thnfuntd hutn 1.00
Rwpnwpiwl wluwnwbpGbp
1 [Nwwnthwlwnwy hwindwéh pennGugnid B - 12,5 nwuh phiinnGny 5ud i3 0.085
2 |Nwuwntiph quygh uywnh Gnpngnid Ghasl 1062 02 15.00
3 [UnwuwnwnGtph queh udwnh Gnpngned dhGsl 1062 iy 10.00
4 |7eGtph L ywwnnihw(Gbph phpnienLbOtnph ujwn qugh wnwiuny o 14.00
5 |TMwuwnp jninulbpyntd dwppbiny hpG Gepyp 35% hg wybih h=1.2u 10002 0.11
6 |TMwwnbph pwpdpnpwy Gepynid (wnkipuny 100 o2 0.19
7 |mlbph L wwwnnthwGbph phpnipyniGGlph pwpdpnpuwy GepynLd (wnbpuny 100 0.14
8 |Unwuwnwnltph pwpdpnpwy Gepynid (winbpuny 100 ° 0.10
9 |®wynk noukph jninwibpynd 1006° 0.05
10 |Qwjnk wwinnthwGbph jniqwGtipyncd 1000 0.05
11 JUbnwnwywl Swnwpwnh jniqwitpyntd Swppbiiny  hhG GEpYp/ wuwnoqudp/ 10002 0.1
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1 [LhGnihnudb hwwnwyGeph Ywenignld o 19.69
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Mwwnzquiiph 2bwtph ujwnnis g/w 2wnuwfuny 1000 QA7
Twwnzquiph ujwn.g/w pwnwtuny 1002 0.10
Mwwnzqudph GEpynid Swuwnwihl Gepyny 1000 0.12
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Iwnnpnwiwnh wnGdk, SkynLuwgyws, PwdwGhs hhdpny MM hwindwdpp 2x2.5606° 100 ¢ 0.12
Iwnnpnwiwph wnGak, dbynLuwgywé, pwdwihs hhipny MMd hwunywdpp 2x4605° 100 4 0.08
Lntuwwnne bEGnpwzhlugiwa ptiLhyny (wiwny 2204,100 dwn hwtn 3.00
UGpwinhg Gnpdwg nwnpbpwyh, Ephplte, pwplywé nbnwnpdws hwdwn 2204,6U hwwn 1.00
fupngwywjhG Jupnwy hwtn 1.00
Snuh JupnwyGtph L whownhsbtph 100hwn 0.02
Snith  pwdwlwpwnp 100hwn 0.01
UynuGbph thnpnid 1004 0.14
Mwwtph queh ujwnh Gnpngnud GhGsk 1002 2 0.007




